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int = 9.9018 +0.1152 * (inf(2) - inft) + 0.0768 * gdpgapr(l) -1.3506lex + 0.8759 * int(-1)
(3.258) (2.036) (2.305) (-3.131) (18.607)
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gdp = exp(lgdp)
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growthr=((Igdp-lgdp(-4))*100
gdpgap = gdp-gdphp

gdpgapr = (lgdp - Igdphp) * 100
Intr=int-inf(-1)

<BSMH>

Int=252| (%) inf: 2B|XAE7HE S E(%) inft: =2 S/ FH%)
gdpgapr: GDP & (%) ex: A/EHD & imp: Y= 7H(ZE7|E)
ca: FR|(HT Fa) ka: At=X[(H2 &H2f)  mbus: 05 =@SSH1I0Y )
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gdp: 3+= GDP(#0t Sta{)  gdpus: O|= GDP(102 %2{) gdpcn: &= GDP (102 (¢
cpic 2H|XFE MK cpiagrisHA4E7HA X[ cpioil: 4RFIHAX|5 impoil: +YHFIHAX|

ulcEHR=SHE | At
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